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Reading Notes -- None
Class Activities

CA 4.1  Hydrogen sulfide is an odorous gas produced when bacteria decompose organic materials in the absence of oxygen.  It dissociates in water according to:  


H2S = H+ + HS-     and      HS- =  H+ + S2-
When it is in its gaseous form (H2S) it can be stripped out of solution using a packed tower or bubble aeration.  At what pH will the H2S form represent 95% of the total sulfide (total sulfide equals the sum of H2S, HS- and S2-.)?   Hint:  Sketch a distribution diagram and see whether it helps you simplify the equations.  Answer: 5.68

Homework – Due Th Sept 16
D&M 2-12  Hint:  Is HCl strong or weak?  Answer:  2.26

D&M 2-13  Hint:  The only source of acetate in the final solution is the sodium acetate originally added.  The answer printed in the book is wrong. Answer:  [HAc] = 0.033 M and [Ac-] = 0.103 M  
D&M 2-33  Hint:  If we ignore the dissociation of water (because it provides very little H+ in relation to the acid system and can be neglected), then the only source of H+ is HOCl, meaning  [H+] = [OCl-].  
D&M 2-34  Answer:  C OCl = 0.141 mg/L

